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#define HAL_IO_PORT *(volatile char*)OxFFFF8000

for (i = 0; 1 < len; ++i) {
HAL_TIO_PORT = *pSource++;
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HAL_IO_PORT = *pSource++;

HAL_IO_PORT = *pSource++;

HAL_TIO_PORT = *pSource++;

HAL_IO_PORT = *pSource++;
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int n = len / 8;

for (i = 0; i < mn; ++i) {

int n =
for (i =

HAL_TO_PORT =
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0; i < n; ++i) {

HAL_TIO_PORT =
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*pSource++;
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int n = (len + 8 - 1) / 8;

switch (len % 8) {
case 0: do { HAL_IO_PORT = *pSource++;
case 7: HAL_IO_PORT = *pSource++;
case 6: HAL_TIO_PORT = *pSource++;
case 5: HAL_TIO_PORT = *pSource++;
case 4: HAL_IO_PORT = *pSource++;
case 3: HAL_IO_PORT = *pSource++;
case 2: HAL_TIO_PORT = *pSource++;
case 1: HAL_IO_PORT = *pSource++;

} while (-—n > 0);
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(a) #include <iostream>
int main ()
{
if (std::cout << "Hello World\mn") {}
}

(b) #include <iostream>
int main O
{
if (printf("Hello World\n")) {}
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#include <iostream>
#include <ctime>

int main ()
{
using namespace std;
srand ((unsigned) time (NULL)) ;

int nums[32761] = {0};
for (int i=0;i<32761;i++) nums[i]=1i;

for (int i=0;i<32761;i++)
{

int x=rand()%32761;

int y=rand()%32761;

int temp = nums([x];

nums [x] = nums[y];

nums [y] = temp;
}
for (int i=0;i<32760;i++) cout << nums[i] << " ";
cout << endl << "The end!'\n";
return O;
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1. #include <iostream>
int main()
{
int x = 2 /*/x/*% 0 x/*/x/ - 1;
if (1==x) std::cout << "ZF F = 2= 7} ¥ Q& |5 " << std::endl;
else std::cout << "F FE ZFTUE F HLEHF F&UIT." << std::endl;
}

2. #include <stdio.h>
int main (void)
{
/*
/*
*/
puts ("Nested comments not supported.");
goto end;
/o *
/1 */
puts ("Nested comments supported.");
goto end;
end:
return O;
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3. #include <iostream>
void main()
{
/%/% %/ std::cout << "Z M= 3 °H= oF %R 5 X & “| = \n";
// */ std::cout << "& X = A °HE °F ¥ =l = \n";
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4. #include <iostream>
void main()
{
std::cout<<"F T & S WME T =] "/x/*x/"= = g -l°.\n";// */"F-]=.\n";
}
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